Question Sheet 33: Crime and Punishment
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One thing that Lockie (and the viewer) learns as the series progresses is that there are always
consequences of our actions. For example, in Episode 18, Lockie gets into a fight because he is jealous
of Vicki. As a result of this fight, Sarge punishes both Lockie and Curtis.

1 | Eventhough Lockie doesn't throw
a punch, why does Sarge punish
both boys?

2 | = Does Lockie think it is fair that
he is being punished?

= Why does he accept the
punishment if he did not
actually throw any punches?

3 | Inyour opinion, does the
punishment seem to fit the crime?
Why?

4 | In retrospect, how could Lockie
have avoided the fight and the
subsequent punishment?







